
https://www.pass4itsure.com/egma105.html
2024 Latest pass4itsure EGMA105 PDF and VCE dumps Download

 

 

 

EGMA105Q&As

Enterprise Geodata Management Associate 10.5

Pass Esri EGMA105 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/egma105.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Esri Official
Exam Center

 

 

EGMA105 PDF Dumps | EGMA105 Exam Questions | EGMA105 Braindumps                                1 / 3

https://www.pass4itsure.com/egma105.html
https://www.pass4itsure.com/egma105.html
https://www.pass4itsure.com/egma105.html


https://www.pass4itsure.com/egma105.html
2024 Latest pass4itsure EGMA105 PDF and VCE dumps Download

QUESTION 1

A GIS administrator needs to give users access to only subnet of parcel feature and filed as well as tax 

record information from a non-spatial table. Users must be deride access to sensitive information in each 

table. 

What should the administrator choose to meet these requirements? 

A. Database view 

B. Query layer 

C. Relationship class 

D. ArcMap joins 

Correct Answer: B 

 

QUESTION 2

Two editors work on the same versioned streets feature class. The editors each work in their own transaction versions,
and each version is a child of DEFAULT. Editor A only makes updates to the streetcode and StreetType columns, while
Editor B only edits the geometry Which conflict resolution option will result in the least number of conflicts? 

A. By object (by row) 

B. By attribute (by column) 

C. In favor of the Target Version 

D. In favor of the Edit Version 

Correct Answer: B 

 

QUESTION 3

An administrator runs a nightly compares on a versioned geodatabase. In the morning the administrator 

checks the compares _ log and sees it is successful, but the number of state did NOT decrease. All users 

are working on the DEFAULT version an tend to run geoproccessing tools overnight. 

Why is the compress NOT removing any state? 

A. The connected map sessions are locking state. 

B. The connected map sessions are locking the compress_log 

C. The administrator needs INSERT and DELETE permission on the compress_log 
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D. The administration needs INSERT, UPDATE and DELETE permission on the state table. 

Correct Answer: C 

 

QUESTION 4

What are dirty areas used to identify? 

A. Areas to be deleted 

B. Areas to be topologically validated 

C. Areas to be edited 

D. Areas to be reconciled and posted 

Correct Answer: B 

 

QUESTION 5

What can be used to import the performance of join in map? 

A. Use a related instead of join 

B. Add an attribute index on the filed 

C. Create a Definition Query on the joined layer 

D. Rebuild the spatial index 

Correct Answer: A 
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